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dw

1.(1)  — =ae ® =a(cosa — isina) = u — v
dz
Sou = acosa, v = asina,V =a

1.(2)  z=re" w=@+ith =r"eind = r"(cosnb + isinnd)

0
p =r"cosnb,p = 7’1/20055, = r"?sin=

2
9 =g, 00, 0, 00
) oy T 0’ o Y= 05 =

p=2" -y +cw=p+ih = (22 —y?) + 20y = a2’

-2



HERANZEEREE (7)
1-23-2003
by E. Yamazato

#5 - K

LAERT VYY) w=—ilnz+2z THZLNAHENIZOWT (1) ZHlFED
WO HIDRENEHAGLEZE DR, (2) FERT VYL %
Kbk, (3) r—1,0=3/212BFdEERDE, (155 2. @ERT
VXY NBRANTRINSGBENORZFIHL, DOFANS DRNDEERT >~
VY ILB LCIRNOBEFKSRkO K, (1 050



HERANFEERMRE (7)
1-23-2003
by E. Yamazato

#5 - K

1LARTVIYYI w=—ilnz+2z THZLNAHENIZOWT (1) ZHlFED
WO HIDRENEHAGLEZE DR, (2) FERT VYL %
Kbk, (3) r—1,0=3/212BFdEERDE, (155 2. @ERT
VXY NBRANTRINSGBENORZFIHL, DOFANS DRNDEERT >~
VY ILB LCIRNOBEFKSRkO K, (1 050

(fiF)

1. (1)Circulation(I" = 27)+Parallel flow(U=2)
(2)w = —iln(re” + 2re® = —ilnr 4 0 + 2r(cosf + isind)
= (0 + 2rconf) + i(2rsinf — Inr)
@ =60+ 2rcosf, Y = 2rsinf — Inr

) 1
d—w:—3+2:2—i7(0039—z’5in9)
dz z T
3r dw
r=1:6="00 =0 i~ i(-1)] =3,

2. Parallel flow(U=2)+Source flow(Q = 6m)
w = 2re + 3in(re”)

S = 2rcos + 3lnr, ¢ = 2rsinf + 30
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(fiFt)
2 T ) 2
1. w:U(zl—l——)—Z—lnzl,ZQZzlem,z:,ZQqLa—
21 27 22
dw dz dz
dz dzy dz
dw a? il
a=U1-2)- ~0
d1 )A ( Zl) 27T2’1
At point A, z = 2a, 2o = a, 21 = ze " = qe” @
dw a® il
=U(1- —) — — =
dz 1)A ( a2e*2m> 2mae i
U(l — 21&—7“1(] i iy T )
(1=e™) oma’ (e ) 2ma
. . i
U(cosa — isina — cosa — isina) — —— =0
Ta

I' = —4rwaUsina(I : negative)
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(1)
1 =U Fl + —In( )
w=Uz——lnz+ —ln(z —a
dw i Q
U -—
dz 21z + 21(z — a)
dw., r? 02 02 iUT
el IS §
(dz) 422 i 47222 o A72(z — a)?) * Tz
n UQ ir'Q ir'Q irQ
m(z—a) 27%z(z—a) 27n%az 27%a(z —a)
1 1
2(z—a) a(z—a) az
. W [,dw ., p UL aI'Q Q
At::Fx—F:—]{—d:——— — iU — %
=0 T (dz) 2 ( m 27r2a) il (U 27ra)
Q
F,=0,F,=pl'(U~— —
PrU—5-)
1) r
2. w=—Ling— Z—Zln(z —a)
2T 2T
dw 0y, i
dz  2mz 2m(z—a)
(w1 3 I )0y I\,
dz A7222  An?(z —a)?  27n%a(z —a)  27%a(z —a)  272az
1 1
2(z—a) a(z—a) az
. Zp dw2 . .Fng pFlFQ
At :O:Fx—F:—ffd: 99 _
N T (dz Jdz = ip o 2ma
pF1F2
CR=-P12
2ra Y
' d LT rr rr
Atz=a:F$—iFy:%f(—w)d zp2 12:[)12):. 11
2 ) " dz 2 2m2a 2m2a 21a
I
. Fx — u’ Fy =0

2ma
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